Subtract by counting back in tens.

(@) 56-40=‘15\

56, 46, 36, 26, 16..

(b) 43 -10=| 33

20

(c) 68

48

(@ 99 99, 89,79, 69, 59...

80

19

(@ 72-50=|99

i

() 83 - 60

Challenge 1
54 is the largest number.
14 is the smallest number.

The difference is 54-14= 40



Challenge 2

28

Challenge 3

| know this challenge was very tricky but | worked it by trying
different numbers to get 40, ensuring the numbers were 7
more than the second and 3 less than the third.

First Jar- 19
The other jars-
Second jar-12

Third jar-9



